
SET - A 

कोर्स B.A. (Prog.) Functional Hindi 

- यूनिक पेपर कोड  62051113 
- शीर्सक : आधुनिक भारतीय भार्ा : ह िंदी भार्ा और र्ाह त् य (ह िंदी-क) 
- रे्मेस् टर I 

पूर्ाांक : 75                               र्मय : 3 घिंटे 

आवश् यक निदेश : 

1- उत् तर के पूवस प्रश्िों को अच् छी तर  रे् र्मझिे का प्रयार् करें. 
2- छ  प्रश् िों में रे् ककन  ीिं चार प्रश् िों के उत् तर दें. 
3- प्रत् यके प्रश् ि 18.75 अिंक का  ोगा. 

 

 

1. राजभार्ा की र्िंकल्पिा को स्पष्ट करते  ुए राजभार्ा ह िंदी की र्िंवैधानिक स्स्िनत की र्मीक्षा कीस्जए। 

2. रीनतकालीि काव्य का र्ामानय पररचय दीस्जए। 

3. भारतेंद ुयुगीि काव्य की ववशेर्ताओिं का र्ोदा रर् उल्लेख कीस्जए। 

4. कबीर के दो ों का आशय स्पष्ट कीस्जए। 

5. जयशिंकर प्रर्ाद का र्ाह स्त्यक पररचय दीस्जए। 

6. ‘बादल को नघरते देखा  ै’ कववता में चचत्रित प्राकृनतक र्ौंदयस का वर्सि अपिे शब्दों में कीस्जए। 

 



SET -1             

 कोर्स :  B.A (prog.) FUNCTIONAL HINDI 

 यूनिक पेपर कोड :  62051114 

 शीर्सक :    आधुनिक भारतीय भार्ा : ह िंदी भार्ा और र्ाह त्य (ह िंदी – ख ) 

रे्मेस्टर :   1   

पूर्ाांक :  75                                             र्मय:  3  घण्टे        

आवश्यक निरे्दश : 

                 

1.  उत्तर के पूर्स प्रश्िों को अच्छी तर  रे् र्मझिे का प्रयार् करे. 

2. छ  प्रश्िों में रे् ककन ीिं चार प्रश्िों के उत्तर दें. 

3. प्रत्येक प्रश्ि 18.75  अिंक का  ोगा . 

  

 1. ह िंदी भार्ा के उद्भर् और वर्कार् पर एक लेख ललखखए. 

 2. आहदकाल की प्रर्वृत्तयों का र्र्सि कीजिए . 

 3. कबीर का र्ाह जत्यक पररचय ललखखए . 

 4. ‘भूर्र् का काव्य र्ीर रर् प्रधाि  ै.’  उक्त कथि के आलोक में युजक्तयुक्त र्मीक्षा कीजिए . 

 5. ‘बाललका का पररचय’ कवर्ता का र्ार ललखखए . 

 6. ‘र्र दे र्ीर्ा र्ाहदिी’ कवर्ता का प्रनतपाद्य ललखखए . 

 

 



Set A 

 Roll No. 

Unique Paper Code          :62051115 
 

Name of the Course          : B.A. (Prog.) Functional Hindi 
 

Name of the Paper            : आध�ुनक भारतीय भाषा �ह�द� C 
 

Semester                           : I 
 
 
Duration : 3 Hours                                                                         Maximum Marks : 75 

 

 आव�यक �नद
श 

      उ
तर देने से पूव� ��नो को अ�छ� तरह से समझने का �यास कर� ।  

छह ��नो म� से !क"ह# चार ��नो के उ
तर द�।  

�
येक ��न 18.75 अकं का होगा। 

 

1 �ह�द� भाषा का सामा�य प�रचय द�िजए ।  

2 कबीर क" सामािजक चतेना  के $व&प को $प(ट क"िजए।  

3  नर हो न  �नराश करो ...क-वता का .�तपा/य $0(ट क"िजए।  

4  �नगु3ण का5यधारा क" -वशषेताएं बताइए। 

5 आ�दकाल क" -वशषेताएं बताइए। 

6 सूरदास के पद< का सार =ल>खए। 
     



Name of the Course: BA(Prog)(MIL) 
Semester: I 
Name of the Paper :Introduction to Logic 
Unique Paper Code:62101135 
Time:3 hours                           Max.Marks:75 
 
 

Instructions for Candidates:  

1. Attempt any Four questions.  
2. All questions carry equal marks.  
3. .Answers may be written either in English or Hindi; 

but the same medium should be used throughout 
the paper.  

 

I. Explain the following: 

a. Truth and validity 

b. Proposition and sentence 

c. Deductive and Inductive Logic 

 

2. a. Explain the classification of propositions as 
per quality and quantity. 

b. Translate “Terrorists are never ethical” to 
logical form. 



c. If “All students are hardworking” is true ,what 
can be inferred about the truth/falsity of its 
opposite propositions. 

3.a.State the contrapositive of “All non pirates are 
non merchants”. 

b. State the contradictory of “No football players 
are opera singers.” 

c. List down the rules of obversion. 

 

4.a.Determine the validity of EAO IV by using the 
method of rules and fallacies. 

b. Determine the validity of the following 
syllogism by the method of rules and fallacies: 

All women are beautiful persons. 

All beautiful persons are adorable., 

Therefore,all adorable persons are women. 

c. Reduce the following categorical syllogism to 
standard form and give its mood and figure. 

Some philosophers are not good orators. All 
good orators are successful persons. Thus, some 
philosophers are not successful persons. 

5.a.Symbolise ‘We will enjoy if and only if every 
family member joins us’. 



b. Use longer truth table method to determine 
whether the following statement is tautologous or 
self contradictory or contingent: 

[(p . q) v p ]v( q v r) 

c. Determine the validity/invalidity of the following 
by the Shorter Truth Table Method: 

[(pv~p)v~q]         r 
 
6. a. Draw the truth table for material implication. 
    b. If P is true and Q is false, then find out the truth 
value of (PVQ)V~Q. 
c. Test by the longer truth table method whether the 
following argument is valid/invalid? 
If your car starts, then you have fuel. 
Your car does not start. 
Therefore, you do not have fuel. 
 
 
 


